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If e (cos®@ teos’eteos’a+-..00)log.2 gatisfies the equation t2- 9t + 8 = 0, then the value of

2sinx Y ia-
sinz+v3cosz (0 <T< 2 ) Is:
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All possible values of 8 € [0, 27r] for which sin 20 + tan 20 > 0 liein :
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If 0 < x,y<mandcosx+cosy — cos(x+Yy) = % then sinx + cosy is equal to :
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in2 2
The number of roots of the equation, (81)5"* + (81)°°"X = 30 in the interval [ 0, 7] is equal to :
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If for x € (0, %), logyosinx + logqgcosx = —1 and logyg(sinx + cosx) = 1+ (logig n — 1), n >0, then the

value of nis equal to:
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The number of solutions of the equation x + 2tanx = % in the interval [0, 27] is :
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If 15sin*c + 10cos*a = 6, for some a€R, then the value of
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27sec®a + 8cosecla is equal to:
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The sum of all values of x in [0, 27], for which sin x + sin 2x + sin 3x + sin 4x = 0, is equal to :
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If tan (%) ,z,tan (Z—g) are in arithmetic progression and tan (%) , Y, tan (i—g) are also in

arithmetic progression, then |z — 2y| is equal to :
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The value of cot % is:
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If sinf@ + cos @ = % then 16(sin(26) + cos(40) + sin(66)) is equal to :
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The sum of solutions of the equation

CBL_ — |tan2z|, z € (—%, %) - {%,—%}is:

14sinx
0 -
O %
-3
QO _-

15



© JEE Main 2021 (Online) 26th August Evening Shift
MCQ (Single Correct Answer)

The value of

2sin (%) sin (%T”) sin (%’r) sin (%’T) sin (%’r) sin (%’r) is:
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The distance of the point (1, —2, 3) from the plane x — y + z = 5 measured parallel to a line, whose

direction ratios are 2,3, —6is :
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The number of solutions of the equation 3otan’ 4 gosec’s 81,0< 2 < X is:
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If n is the number of solutions of the equation
2cosz (4sin (§ + z)sin (§ —z) — 1) = 1,z € [0, 7] and S is the sum of all these solutions,

then the ordered pair (n, S) is :
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